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Unit 2 Review 1 			Name:  ________________________
Writing Linear Programming problems 

1. Define the following:

Decision Variables - _____________________________________________________________


Constraints - ___________________________________________________________________


Objective Function - _____________________________________________________________


Optimal Solution  - ______________________________________________________________


Linear Programming - ____________________________________________________________


2. Two raw materials are needed to make one of the products produced by Dartmouth Inc.  The product must contain no more than 9 units of material A and at least 18 units of material B.  The company can spend no more than $300 on materials for each piece produced.  Material A costs $4 per unit and weighs 10 pounds per unit.  Material B costs $12 per unit and weighs 20 pounds per unit.  How much of each material should be used to maximize the weight of the product?

Decision Variables:					Constraints:



Objective function:



3. A farmer has a 320 acre farm on which she plants two crops: corn and soybeans. For each acre of corn planted, her expenses are $50 and for each acre of soybeans planted, her expenses are $100. Each acre of corn requires 100 bushels of storage and yields a profit of $60; each acre of soybeans requires 40 bushels of storage and yields a profit of $90. If the total amount of storage space available is 19,200 bushels and the farmer has only $20,000 on hand, how many acres of each crop should she plant in order to maximize her profit? 

Decision Variables:					Constraints:



Objective function:


4. Mrs. Smith grows peaches and apples. The workers can pick no more than 1200 apples and 1400 peaches daily. The combined number of peaches and apples that the packaging department can handle is 2300 per day. Mrs. Smith can earn a profit of$0.25 for each apple and $0.20 for each peach.

Decision Variables:					Constraints:



Objective function:



5. The available parking area of a parking lot is 600 square meters.  A car requires 6 square meters of space and a bus requires 30 square meters of space.  The attendant can handle no more than 60 vehicles. 
(A)  If a car is charged $2.50 to park and a bus is charged $7.50, how many of each should the attendant accept to maximize income?

Decision Variables:					Constraints:



Objective function:



